Multiplication par 10 (I)

Trouvez chaque produit.

41 X 10 = 26 X 10 =
53 x 10 = 94 x 10 =
13 x 10 = 66 X 10 =
18 x 10 = 50x 10 =
28 X 10 = 60 X 10 =
97 X 10 = 85X 10 =
91 x 10 = 34 X 10 =
21 x10 = 50x 10 =
16 X 10 = 26 X 10 =
87 X 10 = 99 X 10 =
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Multiplication par 10 (I) Solutions

41 x 10 =410

53 x 10 =530

13 x10=130

18 x 10 =180

28 X 10 =280

97 x10 =970

91 x10=910

21 x10=210

16 x 10 =160

87 x 10 =870

Trouvez chaque produit.

26 X 10 = 260

94 X 10 =940

66 X 10 = 660

50 x 10 =500

60 X 10 = 600

85 x 10 =850

34 x 10 =340

50 x 10 =500

26 X 10 =260

99 X 10 =990
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